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Answers

1.    498.1    

2.    86,581   

3.     100     

4.    1,000    

5.   5,148.2   

6.    514.14   

7.    253.3    

8.    242.93   

9.    565.5    

10.    362.55   

11.    222.6    

12.   12,115.7  

13.     100     

14.     100     

15.     100     

16.    32,340   

17.    6,310    

18.    1,000    

19.   6,069.6   

20.   610,600   

Use decimal multiplication and division rules to fill in the blank.

1)    498.1    ×1,000 = 498,100

2)    86,581   ÷100 = 865.81

3) 742.4×    100      = 74,240

4) 751.1×   1,000     = 751,100

5) 514.82×10 =   5,148.2   

6)    514.14   ×1,000 = 514,140

7) 2,533÷10 =    253.3    

8) 242,930÷1,000 =    242.93   

9) 5,655÷10 =    565.5    

10) 36,255÷100 =    362.55   

11)    222.6    ×100 = 22,260

12)   12,115.7  ÷100 = 121.157

13) 86,650÷    100      = 866.5

14) 66,957÷    100      = 669.57

15) 897.52×    100      = 89,752

16)    32,340   ÷100 = 323.4

17) 63.1×100 =    6,310    

18) 368,583÷   1,000     = 368.583

19) 606.96×10 =   6,069.6   

20)   610,600   ÷1,000 = 610.6
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